EMRBALIGE R TE 100 ZFEF 2 28
TRERMESERHEE S &

B 10741 A58 (&£) 168504
WEE AR EE

ERORBERE

HFEANE  mEE &

WER SHEM

Falpe

C ERREC(58)
R EIH
Fh HFHRAR I REER 2 EHRURERMEKEAEIESE
WA RHBEBRTEERICZFEL2EUNEHBR HFTHELIRTES
106 5 EMERARURMTEUER E)REHIER > AR 106 25
BER22HRUEAMERERERE(EE H-FHBAHBEESRLS
T o
2. KELBWARY  SFEAREKBTHBMEENEZ -
R BERSE -

‘)m;hl‘,

S BEER A
£~ 3 #(16:20)

BEH ma X

gﬁlﬁfifjﬂ’%‘%}ﬂ{? AR #ﬂ B 41 sElofef 0950

2 H by Ak

;FJ i " Ji\ & ? -—F—-

P #1430 .y; -l | i LJ

.&:P‘]p #E'J i 8]e9 1450

oledefo® fooelv3s |
£ o) 70,}73\7 |

A‘._.T] l

555"‘7,., e O i g AE “nE =] i

THRRE LERER

clog 30

#HEE
igﬁ%é‘ﬁ JjJ ] !

A E ¥ra
l—& F‘pr 5

0/02'0?—3% )




!

Jiv

~ BFRE G

~ M EE L RE

AFLILARE SR T F

L BERE C BIHEHEER A

TR
iR B &
°]% /A S B 1b®
=

CHAAR ATERED £ RECHBIESHEERFEE FIEE
t R L E A PACE-2-9)
HEALLE
ATECEAL FERARE
N o i 1% A
_— }57\%%% ZEER Lﬂf Z2 gﬁ
A EAE % ,\,3__ FRAE /Qﬁ; 2 A
: 2 E gk maed SHE AHT
ESEY:: FEAE |3F 3% }i
2 % P " T 7 5
wBEe | oE }%j_ FERAE %vq /5@’%
N > WE gk o E L
&3 2 4E Fm *Eﬂ;@& R ERE %/Y)\/Q?Kﬁf;
» <%
werr | M IE RERAK




B
RAFEIR -

#xal: TERBEIEF6A98
BXFR 2L B FH1060048603A3%

XE 0L TER V42510625825 EHEE | -
BRI BB TPEERGEAURERMWEFEMEEIBE K -
NEFE D THIRFPEERICZFELEWERELR ) (Do) -

wi ik L&

1R R1R



Y S EEN ¥ L8

% Hcif 4
i’\

¢ ELE 10660 9 P
3 RKERINE S 10600486034 52
Elf_lﬁﬁ'%”‘i
FRof 2w
g *fé?#
o F
FAPFERYER 6, 240 ~ 12,170 ~ 23 22,800 ~
B 14
g |PRW-ATEA 6,240 ~ | 13,220 %3 22,800 =
ﬁi‘}\é ‘E‘F{‘ﬁi‘f‘ﬁ‘%i
K IT
ke 6, 240 ~ 25,730 ~ 1 33,560 ~
BE& -1 E5
@ » | FEHF-AFLE 6, 240 ~ 13,220 ~ 2 22,800 ~
HoAc ZL*‘F“ N ?\iéﬁ
g iz
Y 6, 240 ~ 25,730 ~ 2 33,560 ~
R ( & LB IND ) ) )
EBFn(e B BIR " 6. 240 = 13,220 = 2 22,800 =

e FAZ)




## AR
RIGEER

HXx A FERBEIGF6A9A
BXFR - BHREIFF F1060049373A5%

FE % THFHREE "‘é&#’éf@ﬂ*#xl()ﬁﬁ%ﬁﬁ#&%&mxﬁﬁ
E(ERE) WEHE, -
RAF r—ﬂ&‘fl’#'ﬂl&ﬁﬁiiﬂiﬁxﬁFH%%%%G#H?:IIE%ZTAo
- aEFR "HEHEE SR T EZRI0065E 52 28 & R AR AR
5 B (RAE) kB, (oms) .

it

#1R2 #IR



KT7WAE Y LERI6F&ERMT 2 St d (7% %) o &if

PELFEL06#E60 9P
£ Fo# BN F 1060049373A 5L 2

- RTWAFARY RERYAAV6FERMYE ARAHTE (7 %) 3 &4

Rfgi gy (* %)
AW e %
Y A& Tra B wL
= B S I S ¥ Tl =
Ehs 1,740 = 80~ P AR TR+ 1152 =3
- =3 A7 R (i = =
o= 4,510 110 v 1,520 =3 6,700
iy s L TEERL R s mpman
Lk 80 %/ 400 =g sy 50 | £ BN
oE 1,740 = =03 g 00 T2 BRER
B q9q w|* A E g | ERE G
DR 850 = - 7o
r—‘g—f @?é"k%ﬁﬁi
4/_3%}/,,\_42“ 110 ~
oz 4,510 =
ypnee 390 ~
5_-%‘}/ b F
f ke 320 =
"= 1,740 =
A 0~
%=
p ke 390 =
oz 4,510 =
AL 0~
- ‘E"** Heizd B (W7 a4k )
- "-gv%'é 3?1‘1% ififﬁi" —@,’L;fiﬁ j—/’\—’c"’?ié ’ 3:’:?%’«) %i#i#ivmv%ﬁi’
it ERERT DG TR ER T A ERHEA D PR Y 2
éf“ﬁ;tl"‘ lilj’il'?f o




